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1. (4 Pts) The equilibrium constant for the reaction Ni(s) + 4CO(g) < Ni(CO)(g) is 5.0 x 10* at 25°C. What is the
equilibrium constant for the reaction Ni(CO)y(g) = Ni(s) + 4CO(g)? e IS /)‘*
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2. (3 Pts) The equilibrium constant expression for the reaction 2BrFs(g) = Br, (g) + 5F; (g) is
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3. (7 Pts) On analysis, an equilibrium mixture for the reaction 2H,S(g) =5 2Hy(g) + Sa(g) was found to contain 1.0
mol H,8, 4.0 mol H,, and 0.80 mol S, in a 4.0 L vessel. Calculate the equilibrium constant, K., for this reaction.

) Ch) [s:] . %jl[%ﬂr@
= D+l§‘73\ [%]; .

4. (7 Pts) 2.50 mol N_O_Cl,was.placed in a 2.50 L reaction vessel at 400°C. After equilibrium was established, it was
found that 28% of the NOCI hiad dissociated according to thié eqiation
2NOCI(g) = 2NO(g) + Cly(g).

Calculate the equilibrium constant, K., for the reaction. ;
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5. (4 Pts) Carbon tetrachloride reacts at high temperatures with oxygen to produce two toxic gases, phosgene and
chlorine.
CCly(g) + /,0.(8) =5 COClL(g) + Cly(g), K.=4.4 x10°at1,000K
Calculate K, for the reaction 2CCly(g) + O(g) =5 2COCly(g) + 2Cly(g).
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